## PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						
Pulpwood						
Hardwood				763	cords	
Pulpwood (Total)				763		
Saw Timber						
Hardwood				139,880	board feet	
Saw Timber (Total)				139,880		
Total Pulpwood, Chip & Saw,				,		\$114,346
Saw Timber FOB Mill						,
Total Forestry Stumpage						\$59,820
(Total)						,
Christmas Trees (Total)	*			30	trees	\$1,200
Forestry (Total)						\$115,546
FRUITS						
Blackberries (Total)	10	2.0	1,250.00	2,500	pints	\$4,375
Citrus						
Satsumas	*	5.0	250.00	1,250	bu.	\$25,000
Citrus (Total)		5.0				\$25,000
Figs (Total)	*	5.0	400.00	2,000	lbs.	\$3,500
Fruits (Total)		12.0				\$32,875
FEED GRAINS						
Corn (Total)	*	342.0	75.00	25,650	bu.	\$67,973
Grain Sorghum (Total)	*	202.0	75.00	15,150	cwt.	\$70,993
Feed Grains (Total)		544.0				\$138,965
HAY FOR SALE						
Grass (Total)	68	10,200.0	3.00	30,600	tons	\$2,827,440
Hay for Sale (Total)		10,200.0				\$2,827,440
Home Gardens (Total)	27,381	•				\$5,476,200
NURSERY CROPS						
Fruit and Nut Trees (Total)	*				acre	\$500,000

NURSERY CROPS						
Floraculture & Bedding	*				acre	\$4,500,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$550,000
Foliage Plants (Total)	*				acre	\$550,000
Nursery Crops (Total)						\$6,100,000
PECANS						
Native (Total)	2,493	285.0	875.00	249,375	lbs.	\$236,906
Pecans (Total)		285.0				\$236,906
Rice (Total)	26	4,749.0	57.00	270,693	cwt.	\$2,409,168
Soybeans (Total)	14	3,701.0	37.00	136,937	bu.	\$801,903
SUGARCANE						
Raw Sugar (Total)	28	12,803.0	6,000.00	76,818,000	lbs.	\$9,218,160
Molasses (Total)		12,803.0	180.00	2,304,540	gal.	\$460,908
Sugarcane (Total)		12,803.0				\$9,679,068
VEGETABLES						
Cabbage						
Fresh	*	1.0	650.00	650	sacks (50 lbs.)	\$5,850
Cabbage (Total)		1.0				\$5,850
Cantaloupe (Total)	*	1.0	250.00	250	cartons (40	\$4,358
					lbs.)	
Cucumber						
Fresh	10	1.0	315.00		bu. (50 lbs.)	\$5,670
Pickling	*	250.0	100.00	25,000	bu. (50 lbs.)	\$75,000
Cucumber (Total)		251.0				\$80,670
Eggplant (Total)	10	1.0	650.00	650	bu. (33 lbs.)	\$13,000
Mustard (Fresh) (Total)	8	1.0	600.00		doz. bunches	\$4,200
Okra (Fresh) (Total)	20	10.0	300.00	3,000		\$90,000
Onions (Total)	10	5.0	250.00		bag (50 lbs.)	\$37,500
Green Onions (Total)	10	1.0	616.00	616	lbs.	\$1,848
Shallots (Total)	8	1.0	1,122.00		doz. bunches	\$7,854
Snap Beans (Fresh) (Total)	6	1.0	125.00		bu. (30 lbs.)	\$3,750
Southern Peas (Fresh) (Total)	10	1.0	75.00	75	bu. (24 lbs.)	\$1,875
Squash (Fresh)						

## PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Yellow Squash	7	1.0	135.00	135	bu. (45 lbs.)	\$3,038
Zucchini Squash	7	1.0	120.00	120	bu. (45 lbs.)	\$2,700
Squash (Fresh) (Total)		2.0				\$5,738
Sweet Corn (Fresh) (Total)	10	14.0	630.00	8,820	doz. ears	\$30,870
Tomatoes (Field) (Total)	10	1.0	1,200.00	1,200	lugs (20 lbs.)	\$24,000
Turnips (Fresh) (Total)	10	1.0	600.00	600	doz. bunches	\$4,200
Vegetables (Total)		292.0				\$315,712
Wheat (Total)	*	1,280.0	53.00	67,840	bu.	\$272,276
TOTAL ALL PLANT ENTERPRIS	ES					\$28,406,059

### FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm) (Total)	35	3,500 Acres in Prod.	2,800,000	lbs.	\$3,360,000
Aquaculture (Total)					\$3,360,000
MARINE FISHERIES					
Shrimp (Total)			8,637	lbs.	\$18,024
Crabs (Total)			345,683	lbs.	\$189,296
Marine Fisheries (Total)					\$207,320
Alligators (Wild) (Total)			22	ft.	\$563
Honey (Total)	15	3,103 No. Hives	155,150	lbs.	\$139,635
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES				\$3,707,517

<sup>\*\*</sup> The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

## ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value

CATTLE & CALVES						
Steer Calves				1.527	1 1	P764.050
300-400 lbs.				1,537		\$764,050
400-500 lbs.				2,611		\$1,456,351
500-600 lbs.					head	\$562,616
600-700 lbs.				241	head	\$165,657
Steer Calves (Total)						\$2,948,675
Heifer Calves						<b>#2.42.011</b>
300-400 lbs.					head	\$343,011
400-500 lbs.				1,336		\$697,091
500-600 lbs.				1,298		\$750,380
600-700 lbs.				722	head	\$480,939
Heifer Calves (Total)						\$2,271,421
Yearling Cattle						
600-700 lbs.					head	\$495,702
700-800 lbs.				688	head	\$489,942
Yearling Cattle (Total)						\$985,644
Cow-Calf Pairs (Total)				1,076	_	\$1,022,426
Cull Cows (Total)				1,277		\$483,025
Cull Bulls (Total)				174	head	\$147,126
Cattle & Calves (Total)	240	10,800	No. Cows			\$7,858,316
HORSES						
Brood Mares						
Race Horses	108	1,811	No. Brood Mares	1,532	head	\$12,256,000
Show Horses	233	553	No. Brood Mares	402	head	\$1,608,000
Recreation Horses	1,382	1,711	No. Brood Mares	1,308	head	\$1,962,000
Brood Mares (Total)						\$15,826,000
Stud Fees						
Race Horses		77	No. Stallions	1,315	mares bred	\$3,287,500
Show Horses		103	No. Stallions	733	mares bred	\$1,099,500
Recreation Horses		244	No. Stallions	1,002	mares bred	\$501,000
Stud Fees (Total)						\$4,888,000
Race Horses (Total)	288			1,606	head	\$19,272,000
Show Horses (Total)	551			1,484	head	\$7,420,000

# LAFAYETTE PARISH ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
	Producers	Production		Production	Measure	value
HORSES						
Recreation Horses (Total)	2,034			6,614	head	\$9,921,000
Horses (Total)						\$57,327,000
RABBITS						
Fryers (Total)	*	· · · · · · · · · · · · · · · · · · ·	No. Animals	5,102		\$4,082
Does (Total)	*	344	No. Animals	1,261	lbs.	\$189
Rabbits (Total)						\$4,271
Quail (Total)	*	551	No. Breed	4,400	each	\$8,800
			Stock			
SHEEP						
Wool (Total)		280	No. Sheared	1,300		\$325
Slaughter Lambs (Total)				164	head	\$25,625
Feeder Lambs (Total)				35	head	\$2,625
Show Lambs (Total)				23	head	\$6,900
Stocker Sheep (Total)				23	head	\$1,725
Cull Sheep (Total)				70	head	\$3,500
Sheep (Total)	28	303	No.Breeding			\$40,700
			Ewes			
GOATS						
Show Goats (Total)				108	head	\$27,000
Slaughter Goats (Total)				145	head	\$18,125
Stocker Goats (Total)				77	head	\$7,315
Cull Goats (Total)				52	head	\$3,380
Goats (Total)	35	220	No. Does			\$55,820
SWINE						
Show Pigs (Total)				71	head	\$19,880
Feeder Pigs (Total)				255	head	\$7,650
Slaughter Hogs (Total)				38	head	\$4,569
Culls (Total)				21	head	\$3,360
Swine (Total)	*	30	No. Sows			\$35,459

EXOTIC ANIMALS

Deer/Antelope (Total) \* 650 No. Animals 505 head \$65,650 Exotic Animals (Total) \$65,650 TOTAL ALL ANIMAL ENTERPRISES \$65,396,016

**LAFAYETTE PARISH** \$97,509,592 161